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SECTION - A .

e given below :
[ foat 10 v : : leasure to us besides being
L Hibne doje ETosk foL e wded streets of a
" beneficial for health. Once we leave the cro . : $
city and go out for a walking tour away ﬁ'Oﬂ? eﬁrpat WOI‘h 5
we really feel free. The open air has a bracing e ect og the
mind. The congestion of the city, th.e uproar an(.i tumult; t
intolerable noise of traffic, the hectic daily routine, all th.ese
are forgotten and the mind is at ease. We then ft?el h.ke
running, leaping, singing and laughing. We travel merrily mile
after mile in the company of friends and associates.

9. Hiking takes us in the midst of nature. The sight of waterfalls,
flowers, streams, trees and bushes is pleasing. A connect is
established between us and nature. Various sounds of nature,

like the murmur of a brook or the song of a bird, acquire a new
meaning and significance to us.

. You enjoy the beauty of nature. Minute observations like a
snake casting its slough, a mouse peeping out of its hole, a
squirrel leaping about on the branches of a tree, a bird flying
past us, all these are noticed and they arouse our interest. We ‘
havg no business worries, no fear of the examination, no
anxiety al?out the home. We have leisure to stand, to walk and '(l'
talk. It. 1s more thrilling and pleasurable to hike in a
mountainous region than in the plains. The excitement of

c}imbing up to the top of a hill, the adventure of coming down a

slope, the grandeur of sunset behind a mountain — Allfhese"'i*"‘ ¢
sights lend a rare charm and interest to our journey. s
We walk along a zigzag motor road

)4!'.4,1.
path in search of adventure.

- or cut across a mountain '
. e § e ma 4 h 8. g R ‘;‘.
weathu.a‘:'8 oi; m get caught in a sllovg,eg of :Zien bvlasht}x S
The fecling of unlimited fropr. o L2 at the mountain peak.
oy om makes our hearts leap vith
oo UrEentAnd bitev actiiist e
ives solace to our brain. gy 1), Lo HVitien
0o twice as much wark ag hegr 5 1

e, Mo :
N .‘ ol ¢ das

DS 1
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Based on your understanding of the passage, ¢
questions below :

(i)  To go out for a walking tour is |
(a) to stroll. (b) to ramble.;. /o
(¢) to hikei./ (d) tosaunter. =

Why does the writer say that the mind is at ease whe
hike ? BT
(a) because hiking is an inexpensive activit%/
(b)  because it brings families together.
(¢) because of intolerable noise of traffic.
_because the depressing daily routine is forgotten.

’ The vari e .
(iv) Infer one reason for the following based on information in >

ance :

D e

why it is a pleasure to hike

,' »Sf"'a_dventure"’of; ing dow

P
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(x) Substitute the word ‘leap with joy’ with one word similar in
: meaning in the following sentence from the passage.

The feeling of unlimited freedom makes our hearts leap
with joy. ‘

9. Read the extract given below :

1. Necessity is indeed the mother of invention. When areas in
and around Leh began to experience water shortages, life
didn’t grind to a halt. Why ?[Because a retired civil
engineer in the Jammu and Kashmir Government came up

with the idea of artificial glaciers> {od 11 30

2. Ladakh, a cold desert at an altitude of 3,000 — 3,500 meters
above sea level, has a low average annual rainfall rate of
oo P0mm: Glaciers have always been the only source of water.
_ Agriculture is completely dependent on glacier melt, unlike
1" the rest of river/monsoon-fed India. But over the years,
o] 1 )vith increasing effects of climate change, rainfall and
ST A snowfall patterns have been changing, resulting in severe
RS 94l shqrtageand drought situations. Given the extreme winter
st orll conditions, the window for farming is usually limited to one
' _{’ ° harvest season. letiry
W) P gt 2 A s 13 ‘
5 > 3'{ < It 1S located between the' natural glacier above and the
.u.-‘(jjf ‘E% Lb ‘ﬁfudeb;}:;:s ﬁTx}‘li one clctl)ser to the village and lowest in
N it LARRS LR e St, providing water during A ril-Mav.
rof) HA L ;mmalr;fggmng season. KFurther, layers otg icg abcly\lr:y;ntgi

. e )
;gf_.‘/;’.&‘lg “"bm' ‘ 7T

- . -
—

prn.-';;l 5 / i-. andabovzw PS instead’ of one. It costs about 1,50,000
s ove ‘ AL

o SEAY called the SLagd
- artificial gl igned over 15
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n, :L,Qil\the._-extract_, answer the

10x1=10
' "%g?' on information in

to experience water

L“”Ur Maiie
priate option to ﬁll in the

b) chmate change

(d) extreme winter conditions
2332/ 2N
. h ;nalogy correctly with
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tion continues for 3-4 months resulting in a ‘lar.ge
aulation of ice which is referred to as an ‘artificial

er’. Meltwater Discharge

— e .~_.:.:» -.w;:_.. L!-ovft—-heextraca answer the
' S below * : - .' i 5% A : = 10x1=10

n-fed India.
- (b) climate change

(d) extreme winter conditions

correctly with 4

‘‘‘‘‘‘‘‘
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sentence ©
T A

in our lives comes from
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& b
) ) N ’ o RS tA5 5 eS8 ) A o 2 .
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(vil)

(viii)

(ix)

(x) /

(xi)
/

2an m

FL A
@&ﬁ - - - - b
dialogue betweern Ashish and his interviewer DY

Report the
the sentence :

completing r
Interviewer : Why do you want to be 2 compute

programmer‘? |
Ashish : I have always been interested in computers.

[n response to the question of the interviewer about
why Ashish wanted to be a computer Pprograminer, he

replied ...ooeevessneeess
Identify the error in the given sentence and supply the
correction :

Latex was a natural polymer found beneath the bark of a
mature rubber tree. |

Use the given format for your response .

Error Correction

Kabir shared some information with Sahil abouf his travel
plans, Report Kabir’s plans.

I will go to Tripura tomorrow.

Fill in the blank by choosing the co :
the slogan. : g rrect option to complete

1

................. ONLY WEAPON TO FIGHT
EDUCATION 10 FIGHT INJUSTICE 1S
Gl o (5) A
‘:l AN (@ THIS
elect the correct option to compl | |
3 te .
chalogue between a passerby and apf:rmg.e nmshon gk e

“ s Bl Sy ‘-.p.tlr- ' ]
Farmer : Drive for four kms and the(n turn ngl’xt 3t 1
'tl;hg::s erby asked the farmer, if he e
( Pur. The farmer replied that

a) : i

could tell'hm the way

o
A AT

’0-46;.’.'] N A \

he may driVG fo ‘ - ‘ e

for four kms an T

(b) he should driva’ m:« N and then'turn right.

()  he might drive fas fe et turn right,
Bht drive for four kms and then turn rigl

.’_ < ‘, < . I : \ a : ": g‘ |
'I | India‘slli!qeslsmdemﬂe i 5



Water was vital to human health and fitness.

Error Correction

|
|

4. Attempt any one from A and B given below :

(A)  Technology today is an effective and convenient means of

learning. 5
TECHNOLOGY IN EDUCATION
PROS NS |
| CO =
- Improves engagement and - Distracting |
5 |
Eetention, .. - Reduces problem solving skills
- Pnomotes‘_int‘eracti_‘ve Red iroct ; . |
collaborative learning - uces airect peer interaction |
- Prepares stud ents for the - Expensive to maintain |
future - Information may not be
- Reduces costs % authen@c |
- Promotes technological skijls | - Communication
Provides current informat'iq;{ #,
“‘ =33 -».—;.~

pros and cons of technology in education,
Write a letter to the Editor of g n

You are Meera/Vaibhav and would Jike to share your views on t}

e ——————

1€

ewspabere ressing vour vi
in about 100 -120 words, XPressing your views

OR

4 (B) You are Aruna/Arjun C.C.A. inchar
School, Pune Cantt, You have r

Write a letter to enquire about the following ;
*  Duration of tour |
*  Sightsceing itinerary

9

ge of St. Joseph's High
ead an advertisement by the



Cost of package discount
Mode of transport
Destinations being 0

y one from A and B given below :

vater is consumed in
] ie—chart shows how Wa ; R
Gk igg’b l:; a metropolitan C1LY in In;ha.n aSltlsJinyg e
bofl;i;ation carefully and write 2 paragraph analysl
in

ffered

1]
>
-
—
o
B
=
=
-
=

given ple—chart data.
Dishwashing Bath

e 2% olher

Clothes
Washing
22%

5. (A) For Visually impaired candidates.

List three ways in which we waste water and the ways how
we can save water.

. OR
5. (B) The chart below gives the percentage of social media users

by age in India in 2020. Write a paragraph analysing the
given information in 100-120 words,

5
MDA LN
Internet Activities by,-Age-Groupv
o s Age Group
Activity %  |Teens | 20g 30s | 40s | 50s | 60s | 70+
Get News % |l ae | a5 | g | 74 | 70
Online'games|i 81 154 | hea7a|B20 0 5o T 25 | 32
Downloads 52 46 270 |5 13 8 6
Product 0 | 79 80 | 83 | .79
research O o 5] e L
Buyinga | 43 | 68 | e9 | s | |
i | WM L e S | SR e
Searching 5 31 | og '
23" DY
for people .l s : 24 |
2/4/1 83 | .
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40 Marks

5x1=5

r e clouds, everything was suddenly black. It was
apossible to see anything outside ‘the aeroplane. The old
olane jumped and twisted in the air. I looked at the
1dn't '%‘_W..ey,es;the.compass was turning

nd and d. It was dead. It would not work.
enly dead, too. I tried the
1 2 Can you hear me?”
d too. I had no radio,

10 answ er. 1.
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(a) his ears got block

’
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f the word ‘“twict
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e
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h ONE WORD only :

_ comes through clearly
turning round and round.

Fill in the blank wit
The narrator’s .w..g-
when he sees the compass

OR

6. (B) Read the extract given below and attempt the
questions that follow : A P
Lomov : But you can see from the documents, honoured
Natalya Stepanovna. Oxen Meadows, its true were once the
subject of dispute, but now everybody knows they are mine.
There’s nothing to' argue about. You see my aunts
grandmother gave the free use of these Meadows in
perpetuity to the peasants of your father’s grandfather, in
return for which they were to make bricks for her. The
peasants belonging to your father’s grandfather had the free

use of Meadows for forty years, and had got into the habit of
regarding them as their own, when it happened

(v)

5x1=5

Natalya : No, it isn’t at all like that ! Both grandfather and
great grandf:.;\ther reckoned that their land extended to Burnt
Marsh - wl.nch means Oxen Meadows were ours. I don’t see
what there is to argue about, its simply silly.
(i) The subject of dispute was regarding

(@) free use of Meadows, ‘

(b) making of bricks. ) AN |

(¢) peasants using Meadows,

(d) ownership of Meadow,s.,I , ,

(ii)  Find the word from the extra

ct Whic. (3 -
(a) disputg ich 'means.rcontmuance’ 3

S/ Py
(b) perpetuity Y 74 é o ) ',F
(¢) belonging
(d) reckoned
Natalya's parr - . 5-o0dmother gave (y
“V) z!.lny A ‘-fatfﬁNr’ 8 gr andfather {n lieu‘ 0 .".‘irfh.._NIeadOWS to

‘ TEQUAT R OT Wdis rfe Berdsrt o
| them? :’i&lga why did Oxen
" il o the Dl "
iy bt ,Wwitho LR
e Bensants g o OO0 Oy
@ ~~-*“%M§°.§ﬁ eadows for | o
.-l’}f.’-",c . ' ¥ collegedunia
e Sell. S

Meadows belong ¢,
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and answer the

5x1=5

......

ne, Amanda !
at me when I'm speaking to you Amanda !

o not a care; life in tower is tranquil and
r let down my bright hair)

égn please look
‘.;.Rapun,zel, I hav
T "cértginly neve

~ The few steps of
&>

On pads of v gﬁgllggeduniag

elvtqﬂﬁm S uilsntali g



(b) he has not been @

(¢) his prey has not come t0 the water hole

d) heis not free SRR AL

e P Y

i) Heis lurking in shadows because . VAT

(i) Complete the sentence appropriately: L
[t is clear that metaphor is the poetic device used f?r
‘pads of Velvet! DECAUSe ......oesccreist (clue-explain
how metaphor applies here).

(iv) Find a word from the extract which means - to walk
¢ with measured, stiff or haughty strides :

(a) steps,
O
(¢) pads
(d) stalk

(v) State whether the following statement 1
St nt is TRUE or

The tiger is stealthily waiting for th
the water hole. £ T

-

8.
Answer ANY FOUR of the following in about 40-50 words

each:
(1) Why did the ni _ 4x3=12
Pl night after the rains turn sorrowful for
(b) : (A letter t
Describe the young seagull’s first flight. e
(¢)  Whoare (Two stories about flyi
ying)
: paders and why are théw e da of children s g
) Howdidy (Glim = -
Al gather the details of the bus jo m;:f»es :f India)
(&) : urney ?
Describe how Custarg he B (Madam rides the bus)
xor:ﬁ:hq;s with the Pirate
2040 B8 tard the Dragon)

-
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9. Answer ANY TWO of the following in about 40-50 words

each:

(a)

How did Mrs. Pumphery treat Tricki ? _

(The Triumph of Surgery)

(b) How did Ausable get rid of Max without using @ weapon. 4
(The Midnight Visitor)

(¢ Why did Richard Ebright raise a flock of butterflies ?

P

(' %

swer ANY ONE of the following in about 100-120 W rds
are in danger of falling early, so,m_d S
s in danger of death’. With this

a find out the moral values that
the death of her child.

'l
.y F—y

“As ripe fruits
whe n born are alway
statement of the Buddh

sa Gotami learnt after

g anot ause of the colour
round or his religion’. Do you agree?

following in about 100-120 words:

s very important to lead a
: happy with what we have and %
hat we don’t have. Matilda suffered : i
she was not content in her life. Her desires

What do you learn from her mistake in

P Tl
2 eSS0
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